Topic 12-Power series solutions of ODEs

Def: We say that a function f(x) is analytic at Xo if we can write  $f(x) = \sum_{n=0}^{\infty} \alpha_n (x - x_0)^n$ and there is a radius of convergence r70 where the series converges to f(x) when Xo-r<x< Xo+r. 

$$\frac{E \times f(x)}{e^{x}} = e^{x} \text{ is analytic at } x_{0} = 0$$
  
becaule  
$$e^{x} = \sum_{n=0}^{\infty} \frac{1}{n!} x^{n} \text{ when } -\infty < x < \infty.$$

Ex: 
$$f(x) = \ln(x)$$
 is analytic at  $x_{a} = 1$   
because  $\infty \quad (-1)^{n+1}$   
 $\ln(x) = \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} \quad \text{when } 0 < x < 2.$ 

$$\frac{E \times f(x) = x^{2} \text{ is analytic at } x_{o} = 2}{bccaule}$$

$$x^{2} = \frac{H + H(x-2) + (x-2)^{2}}{finite power}$$
When  $-\infty < x < \infty$  finite power series
$$\frac{E \times f(x) = \frac{1}{1-x} \text{ is analytic at } x_{o} = 0$$

$$\frac{L}{1-x} = \sum_{n=0}^{\infty} x^{n} \text{ When } -|< x < 1.$$

Theorem: Consider the initial-value problem  

$$y^{(n)} + a_{n-1}(x)y^{(n-1)} + \dots + a_{1}(x)y' + a_{0}(x)y = b(x)$$

$$y(x_{0}) = y_{0}, y'(x_{0}) = y'_{0}, \dots, y^{(n-1)}(x_{0}) = y_{0}^{(n-1)}$$
If  $a_{n-1}(x), \dots, a_{1}(x), a_{0}(x), b(x)$  are analytic  
at x\_{0}, then there exists a unique  
Solution  

$$y(x) = \sum_{n=0}^{\infty} a_{n}(x-x_{0})^{n} \neq a_{n} = \frac{y^{(n)}(x_{0})}{n!}$$
that is analytic at X\_{0}.  
Moreover, if each of  $a_{n-1}(x), \dots, a_{1}(x)$ ,  
 $a_{0}(x), b(x)$  have radii of convergence  
at least r>0 at x\_{0}, then  
 $y(x)$  will at least have radivs of  
(unvergence at least r at X\_{0})

Ex: Consider the initial-value problem  

$$y'-2xy=0$$
,  $y(0)=1$   
 $x_{0}=0$   
Step 1:  $y'+a_{1}(x)y=b(x)$   
 $-2x$   
Here we have  
 $a_{1}(x)=-2x$  both of these are already  
 $a_{1}(x)=-2x$  both of these are

$$y' = 2 \times y$$
  
 $y(0) = 1$   
Just keep differentiating the equation  
and keep Plugging in  $x_0 = 0$ .  

$$y' = 2 \times y$$
  
 $y'(0) = 2(0) y(0) = 2(0)(1) = 0$   

$$y'' = 2y + 2 \times y'$$
  
 $y''(0) = 2y(0) + 2(0) y'(0)$   
 $= 2(1) + 2(0)(0)$   
 $= 2$   

$$y''' = 2y' + 2y' + 2 \times y''$$
  
 $= 4y' + 2 \times y''$   
 $y'''(0) = 4y'(0) + 2(0) y''(0)$   
 $= 4(0) + 2(0)(2)$   
 $= 0$ 

$$y^{(4)} = 4y^{11} + 2y^{11} + 2xy^{111}$$

$$= 6y^{11} + 2xy^{111}$$

$$y^{(4)}(o) = 6y^{10}(o) + 2(o) \cdot y^{111}(o)$$

$$= 12$$

$$y^{(5)} = 6y^{111} + 2y^{111} + 2xy^{(4)}$$

$$= 8y^{111} + 2xy^{(4)}$$

$$y^{(5)}(o) = 8y^{111}(o) + 2xy^{(4)}/o)$$

$$= 8(o) + 2(o)(12)$$

$$= 0$$

$$y^{(6)}(o) = 8y^{(4)} + 2y^{(4)} + 2xy^{(5)}$$

$$= 10y^{(4)} + 2xy^{(5)}$$

$$= 10y^{(4)} + 2xy^{(5)}$$

$$= 10y^{(4)} + 2xy^{(5)}$$

$$= 10y^{(4)}(o) + 2(o) \cdot y^{(5)}(o)$$

$$= 120$$

$$4 - y^{(6)}(o)$$

$$= 120$$

So we have that  

$$y(x) = y(0) + y'(0)x + \frac{y''(0)}{2!}x^{2} + \frac{y'''(0)}{3!}x^{3} + \frac{y'^{(4)}(0)}{4!}x^{4} + \cdots$$

$$= 1 + 0 \cdot x + \frac{2}{2}x^{2} + \frac{0}{3!}x^{3} + \frac{12}{4!}x^{4} + \frac{0}{5!}x^{5} + \frac{120}{6!}x^{6} + \cdots$$

$$= 1 + x^{2} + \frac{1}{2}x^{4} + \frac{1}{6}x^{6} + \cdots$$
Thus,  

$$y(x) = 1 + x^{2} + \frac{1}{2}x^{4} + \frac{1}{6}x^{6} + \cdots$$
Solves  

$$y' - 2xy = 0, \quad y(0) = 1.$$

$$E_{X}: Solvey'' + x^{2}y' - (x-1)y = ln(x)subject to y'(1) = 0, y(1) = 0$$

Step 1:  

$$A_1(x) = x^2 = [+ z(x-1) + (x-1)^2 \in r = \infty]$$
  
 $a_0(x) = -(x-1)$   
 $a_0(x) = -(x-1)$   
 $b(x) = [n(x)] = \sum_{n=1}^{\infty} \frac{[-1]^{n!}}{(x-1)^n} \leq r = 1$   
 $[ast topic]$   
Thus, the initial-value problem will  
have a power series solution  
 $have a power series solution$   
 $y(x) = \sum_{n=0}^{\infty} \frac{y^{(n)}(1)}{n!} (x-1)!$   
that has radius of convergence at least  
that has radius of convergence at least  
 $r = 1$ , ie converges when  $0 < x < 2$ .  
 $r = 1$ 

Step 2: Let's find 
$$y(x)$$
!  
We are given  

$$y'' + x^{2}y' - (x-1)y = \ln(x)$$

$$y'(1) = 0, y(1) = 0$$

$$y''(1) = -x^{2}y' + (x-1)y + \ln(x)$$

$$y''(1) = -(1)^{2} \cdot y'(1) + (1-1) \cdot y(1) + \ln(1)$$

$$= -0 + 0 + 0 = 0$$

$$y''' = -2xy' - 2x^{2}y'' + y + (x-1)y' + \frac{1}{x}$$

$$y'''(1) = -2(1)y'(1) - 2(1)^{2}y''(1) + \frac{1}{x}$$

$$= 1$$

$$(y'''(1) = -2(1)y'(1) - 2(1)^{2}y''(1) + \frac{1}{x}$$

$$y^{(4)} = -2y' - 2xy'' - 4xy'' - 2xy''' + y' + (x - 1)y' - x^{-2}$$

$$y^{(4)}(1) = -2y'(1) - 2(1)y''(1) - 4(1)y''(1)$$

$$-2(1)^{2}y'''(1) + y'(1) + y'(1)$$

$$+ (1 - 1)y'(1) - (1)^{2}$$

$$= -2 - 1 = -3$$

Thus, the first few terms of y's  
puwer series are  

$$y(x) = y(1) + y'(1)(x-1) + \frac{y''(1)}{2!}(x-1)^2 + \frac{y'''(1)}{3!}(x-1)^3 + \frac{y''(1)}{3!}(x-1)^3 + \frac{y''(1)}{4!}(x-1)^4 + \cdots$$
  
 $= 0 + 0(x-1) + 0(x-1)^2 + \frac{1}{6}(x-1)^3 - \frac{3}{24}(x-1)^4 + \cdots$   
 $= \frac{1}{6}(x-1)^3 - \frac{3}{24}(x-1)^4 + \cdots$ 

and the series converges at least on 0 < x < 2, ie with radius of convergence at least c = 1.